DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

DIVISION WITH 1 TO 10 Hame:
Time: Score: y—

151) —18.774 =9 = 166)  290.08 =7 =
152) —350.4 = 10 = 167 4339.8 -6 =
153 —430.32 - 6 = 165) 9845 =+ 5 =
59 150.12 = 3 = 169 —1032.8 =8 =
155 —4377 = 6 = 170) 83.42 + 2 =
156 —0095 = § = 17) 3212.8 =4 =
157 163.58 = 2 = 172 7514 + 10 =
158) —204.76 = 4 = 173) 952 + 5 =
159 4056.8 =— & = 17 —560.3 = 10 =
160 5351 + 10 = 1) —4.06 -2 =
161) 981.6 = 4 = 176) —13.566 = 3 =
162) —252.4 =~ 5 = 17 —14608 - 4 =
163) 22475 +5 = 1) —34.84 +5 =
161) 373.38 =~ 7 = 179) 32224 =8 =
165 2251.5 =5 = 180 —7.038 +2 =

Mathematics: Division - Level 6 - Horizontal - Set 1
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